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1 Parameter of interest

Let consider two independent real valued random variables X and Y. We are interested in:

A=P[Y > X]-P[X > Y]

In the examples we will use a sample size of:

n <- le4d

and use the following R packages

library(BuyseTest)
library(riskRegression)
library(survival)




2 Binary variable
2.1 Relationship between A and the prevalence
PY > X]=P[Y =1,X = 0]
Using the independence between Y and X:
PlY >X]=P[Y =1|P[X=0=P[Y =1](1-P[X =1))=P[Y =1] - P[Y =1]P[X = 1]

By symmetry:

So

22 InR
Settings:

probl <- 0.4
prob2 <- 0.2

Simulate data:

set.seed(10)
df <- rbind(data.frame(tox = rbinom(n, prob = probl, size = 1), group = "C"),
data.frame(tox = rbinom(n, prob = prob2, size = 1), group = "T"))

Buyse test:

BuyseTest (group ~ bin(tox), data = df, method.inference = "none", trace = 0)

endpoint threshold delta Delta
tox 0.5 -0.1981 -0.1981

Expected:

prob2 - probl

[1] -0.2



3 Continuous variable

3.1 Relationship between A and Cohen’s d

Let’s consider two independent normally distributed variables with common variance:
o X ~N(ux,0?)
o« Y ~ N (uy,o0?)

Denoting d = B=EX:

e X*~N(0,1)
e Y*~ N (d,1)

PlY > X]=E[lysx] = E[ly.sx«] = E[lz>0]

where Z ~ N (d,2) so P[Y > X| = &(-%)

By symmetry

Sl

A=2xP(

Sl =~

)1

3.2 InR
Settings:

meanX <- 0
meanY <- 2
sdXY <- 1

Simulate data:

set.seed(10)
df <- rbind(data.frame(tox = rnorm(n, mean = meanX, sd
data.frame(tox = rnorm(n, mean = meanY, sd

sdXY), group = "C"),
sdXY), group = "T"))

Buyse test:

BuyseTest (group ~ cont(tox), data = df, method.inference = "none", trace = 0)

endpoint threshold delta Delta
tox le-12 0.8359 0.8359

Expected:

d <- (meanY-meanX)/sdXY
2xpnorm(d/sqrt(2))-1

[1] 0.8427008



4 Survival

4.1 Relationship between A and the hazard ratio

For a given cumulative density function F(x) and a corresponding probability density function f(x)
we define the hazard by:

Pt <T <t+hT>1
I
Pt <T <t+h
P[T>1h
f(t)
1- F(1)

A(t) =

h—0t

h—0t

Let now consider two times to events following an exponential distribution:
e X ~ Ezp(ay). The corresponding hazard function is A(t) = aq.
e Y ~ Ezp(asz). The corresponding hazard function is A(t) = axs.

So the hazad ratio is HR = )\—2 Note that if we use a cox model we will have:

At) = Ao () exp(Flgroup)

where exp() is the hazard ratio.

oo

PlY > X] = oy exp( oqsc)/ ag exp(—aqy)dydz

/ ay exp(—ayz)[exp(—azy)|s.dr

/ oy exp(—a12) exp(—aex)dx

= U fexp(—(n + a2)o)]

aq

a1 + as
1

1+ HR

So:

) 1 1_1—HR
1+ HR 1+ HR




4.2 Scoring rule in presence of censoring
Let’s consider the following random variables:
e X the time to the occurrence of the event of interest in the treatment group.
e (C'x the censoring time in the treatment group.
e X* = X A Cyx the observed event time in the treatment group.
e cx = I x<cy the event time indicator in the treatment group.
e Y the time to the occurrence of the event of interest in the control group.
e (Cy the censoring time in the control group.
e Y* =Y ACy the observed event time in the control group.
e ¢y = ly<c, the event time indicator in the control group.
We observe one realization (z*,y*, ex,ey) of the random variables (X*,Y* ex,ey). We use
the short notation z A y = min(x,y) and z V y = maz(x,y).
4.2.1 Case: ex =0,ey =1
Probability in favor of the treatment:

Plz > y* + 71,2 > a*]
Plz > x¥]
Pz > max(y* + 7,2%)]
- Pz > x*]
_ Sx(yt+TVar)
N Sx(x*)
In the case where 2* < y* + 7, we need an estimate of Sx(y* + 7) to compute the probability

in favor of the treatment. If we can only have an estimate of Sx up to T,q: < y* 4+ 7 then we can
use the following inequality:

Ple>y+71le>2"y=y"]=

Sx(y* +71)

>
Pla>y+7le>2"y=y"] >

0
0
Probability in favor of the control:

Pl >y* — 7,2 > z*

Ply>zz+rlz=ay=y"]=1-

Pz > x¥)
. Pz > max(y* — 7,2%)]
Plx > z¥]
- Sx(y* —7Va¥)
Sx (x*)



In the case where 2* < y* — 7, we need an estimate of Sx(y* — 7) to compute the probability
in favor of the control. If we can only have an estimate of Sx up to T,ne: < y* — 7 then we can use
the following inequality:

SX (xmam) Z SX(:II‘< - T)
SX (Jf‘maa:)

Plz>y—7lx>a"y=9y"]>1-
[z >y —7lr>2"y=y"] S (@)

Probability of being neutral:

Plla—y|<7lz>2"y=9"=1-Pla>y+7le>2"y=y" | -Ply> o+ 71|z > 2%,y =y’
 Sx(yf—TVvar) - Sx(yt+TVar)
Sx(a?*)

Consider the case x* If 40 > y* — 7 then

SX(y* - T) - SX (xmar)
Sx(.’l'}*)

Pllz —y| <7lx > 2",y =y"] >

otherwise
Plla—y|<7lz 22" y=y"]>0

Probability of being uninformative: It is computed as the complement to 1 of the sum of
the probability of being in favor of the treatment, in favor of the control, and neutral.

EXAMPLE:

e when x* > y* + 7, the probability of being favorable is 1 so the probability of being uninfor-
mative is 0.

e when |z* — y*| < 7, the probability of being in favor of the control is 0. If we know the
survival in the treatment group up to time y*, then we can only say that the probability of
being favorable is bounded below by 0. The probability of being neutral bounded below by
1 — Sp(y*)/Sr(x*). The probability of being uninformative is then Sp(y*)/Sr(z*). Clearly
this probability becomes small when Sp(y*) is small. The approximation by the lower bound
becomes exact when St (y*) tends to 0.

4.3 In R

Settings:
alphaX <- 2
alphaY <- 1

Simulate data:



set.seed(10)
df <- rbind(data.frame(time = rexp(n, rate

alphaX), group = "C", event =
data.frame(time = rexp(n, rate = alphaY), group = "T", event =

1)’
1))

Buyse test:

BuyseTest (group ~ tte(time, censoring = event), data = df,
method.inference = "none", trace = 0, method.tte = "Gehan")

endpoint threshold delta Delta
time le-12 0.3403 0.3403

Expected:

e.coxph <- coxph(Surv(time,event)~group,data = df)

HR <- as.double(exp(coef (e.coxph)))

c("HR" = alphaY/alphaX, "Delta" = 2*alphaX/(alphaY+alphaX)-1)
c("HR.cox" = HR, "Delta" = (1-HR)/(1+HR))

HR Delta
0.5000000 0.3333333
HR.cox Delta

0.4918256 0.3406392




5 Competing risks

5.1 Theory

5.1.1 General case (no censoring)
Let consider:
o X7j the time to the occurrence of the event of interest in the control group.
e Yz the time to the occurrence of the event of interest in the treatment group.
e X{p the time to the occurrence of the competing event of interest in the control group.
e YA the time to the occurrence of the competing event of interest in the treatment group.

Let denoteex =1+ llx* >XE, the event type indicator in the control group and ey = 1+ ]ly*>y*
the event type mdlcator in treatment group (= 1 when the cause of interest is realised first and 2
when the competing risk is realised first).

For each subject either the event of interest or the competing event is realized. We now define:

_ XE ifEX:1 _ YE* ifé‘yil
X_{ +ooifex =2 andY—{ +ooifey =2

i.e. when the event of interest is not realized we say that the time to event is infinite.

We thus have:

PlY > X|=P[Y > X|ex = 1,ey = 1]Pex = 1l,ey = 1]
+P[Y > X|ex = Ley = 2| Plex = L,ey = 2]
+P[Y > Xlex =2,y =1|Plex =2,ey = 1]
+PY > Xlex = 2,ey =2|P]

“P[Y > X|ex = L,ey = 1]P|

+1*%Plex =1,ey = 2]

+0xPlex = 2,6y =1

1 0Py =2,y = 2]

EX 22,€y 22]

EX = 1,6y :1]

SOoPIX >Y]=P[X >Ylex =l,ey =1|Plex = l,ey = 1]+ Plex = 1,6y = 2] and:

A:(P[X>Y|EX :1,€Y :1]—P[X<Y|€X =1l,ey = 1])@[6}( :1,€Y :1]
+P[€X =1,ey :2]719[6)( =2,ey = 1]



5.1.2 General case (censoring, method: Gehan)

In case of censoring we can use an inverse probability weighting approach. Let denote d. x (resp.
dc,y) the indicator of no censoring relative to X (resp V'), Xg and Yz the censored event time. We
can use inverse probability weighting to compute the net benefit:

0, %0,

ATPW — Tt~ (1g. g — 1y x)
P o] ? s
1 . .
——(1 -1 if no censorin

_ { P[Q,ﬂp[f&y]( Y>X Y<x); g

0, if censoring

This is equivalent to weight the informative pairs (i.e. favorable, unfavorable and neutral) by
the inverse of the complement of the probability of being uninformative. This is what is done by
the argument correction.tte of BuyseTest. This works whenever the censoring mechanism is
independent of the event times and we have a consistent estimate of P [d.] since:

E[APV] —E | p[;ﬁj;@ ] (Lyos — 1y 5)| X7
LT |9, eV
=E |E e, % 0c X, ~]] Elysx —ly<x]
| [P [5.5] P [onr]
_E {50,;%50,9} Al E [5092] E [%y} A
P _5575(} P 56’?} P [56,;(} P [%y}
A

where we used the law of total expectation (first line) and the independence between the censoring
mecanisms.
5.1.3 Exponential distribution (no censoring)
Now let’s assume that:
o Xg~ Exp(ag x).
o Yg ~ Exp(agy).
e Xcr ~ Erplacr,x).
e Yor ~ Exp(acry)-
Then:

IP[YE >XE] :P[YE >XE|EX =1l,ey = 1}]?[8)( =1l,ey = 1}4—]?[8)( =1,ey :2}

1
= O XOEBY
(ap,x +acrx)(apy + acry) (

ap x

E— aE,XaCR,Y>
ap.x +agy

10



Just for comparison let’s compare to the cumulative incidence. First we only consider one group
and two competing events whose times to event follow an exponential distribution:

e Tg ~ Exp(ag). The corresponding hazard function is A\(¢) = ag.
e Tor ~ Exp(acr). The corresponding hazard function is A(t) = acrg.

The cumulative incidence function can be written:

CIF\(t) = /O M (5)S(s_)ds

= / agexp(—(ag + acr) * s_)ds

0
___ @B _ 0
= o taon lexp(—(ag + acr) *s-)];
ap
=——— (1 —exp(—(ag +« s t_
aE+aCR( p(—(ag + acr) *t-))

where S(t) denote the event free survival and s_ denotes the right sided limit.

Then applying this formula in the case of two groups gives:

o
CIF;(t|lgroup = X) = __°EX (1 —exp(—(ap,x + acr.x) *t_))
ap.x + QoRrx

apy
CIF(tlgroup=Y) = ———— (1 —exp(—(agy +acry) *t_))
apy + QCR,y

52 InR
5.2.1 BuyseTest (no censoring)
Setting:

alphaE.X <- 2
alphaCR.X <- 1
alphaE.Y <- 3
alphaCR.Y <- 2

Simulate data:

set.seed(10)
df <- rbind(data.frame(timel = rexp(n, rate
.X), group = "1"),
data.frame(timel = rexp(n, rate = alphaE.Y), time2 = rexp(n, rate = alphaCR
.Y), group = "2"))
df$time <- pmin(df$timel,df$time2) ## first event
df$event <- (df$time2<df$timel)+1 ## type of event

alphaE.X), time2 = rexp(n, rate = alphaCR

BuyseTest:

11



e.BT <- BuyseTest(group ~ tte(time, censoring = event), data = df,
method.inference = "none", method.tte = "Gehan",
trace = 0)

summary (e.BT, percentage = TRUE)

Generalized pairwise comparison with 1 prioritized endpoint

statistic : net chance of a better outcome (delta: endpoint specific, Delta: global)
null hypothesis : Delta ==

treatment groups: 1 (control) vs. 2 (treatment)
censored pairs : uninformative pairs

vV V V VvV

> results
endpoint threshold total favorable unfavorable neutral uninf delta Delta
time le-12 100 41.6 45.12 13.28 0 -0.0352 -0.0352

Note that without censoring one can get the same results by treating time as a continuous
variable that take value co when the competing risk is observed:

df$timeXX <- df$time

df$timeXX [df$event==2] <- max(df$time)+1

e.BT.bis <- BuyseTest(group ~ cont(timeXX), data = df,
method.inference = "none", trace = 0)

summary(e.BT.bis, percentage = TRUE)

Generalized pairwise comparison with 1 prioritized endpoint

> statistic : net chance of a better outcome (delta: endpoint specific, Delta: global)
> null hypothesis : Delta ==
> treatment groups: 1 (control) vs. 2 (treatment)
> results
endpoint threshold total favorable unfavorable neutral uninf delta Delta
timeXX le-12 100 41.6 45.12  13.28 0 -0.0352 -0.0352
Expected:
weight <- (alphaE.X+alphaCR.X)*(alphaE.Y+alphaCR.Y)
exp <- list()
exp$favorable <- 1/weight*(alphaE.X*alphaE.Y+*alphaE.X/(alphaE.X+alphaE.Y)+(alphaE.Xx*
alphaCR.Y))
exp$unfavorable <- 1/weight*(alphaE.X*alphaE.Y*alphaE.Y/(alphaE.X+alphaE.Y)+(alphaE.Y*
alphaCR.X))
exp$neutral <- alphaCR.X*alphaCR.Y/weight
100*unlist (exp)
favorable unfavorable neutral

42.66667 44.00000 13.33333

12



5.2.2 BuyseTest (with censoring)

Simulate data:

df$eventC <- df$event
df$eventC[rbinom(n, size = 1, prob = 0.2)==1] <- 0

BuyseTest (biased):

e.BTC <- BuyseTest(group ~ tte(time, censoring = eventC), data = df,
method.inference = "none", method.tte = "Gehan",
trace = 0)

summary (e.BTC, percentage = TRUE)

Generalized pairwise comparison with 1 prioritized endpoint

> statistic : net chance of a better outcome (delta: endpoint specific, Delta: global)
> null hypothesis : Delta ==
> treatment groups: 1 (control) vs. 2 (treatment)
> censored pairs : uninformative pairs
> results
endpoint threshold total favorable unfavorable neutral uninf delta Delta
time le-12 100 31.1 35.15 8.65 25.1 -0.0406 -0.0406
BuyseTest (unbiased):
e.BTCC <- BuyseTest(group ~ tte(time, censoring = eventC), data = df,
method.inference = "none", method.tte = "Gehan corrected",
trace = 0)
summary (e.BTCC, percentage = TRUE)
Generalized pairwise comparison with 1 prioritized endpoint
> statistic : net chance of a better outcome (delta: endpoint specific, Delta: global)
> null hypothesis : Delta ==
> treatment groups: 1 (control) vs. 2 (treatment)
> censored pairs : uninformative pairs

IPW for uninformative pairs

> results
endpoint threshold total favorable unfavorable neutral uninf delta Delta
time le-12 100 41.52 46.94 11.54 0 -0.0542 -0.0542

5.2.3 Cumulative incidence

Settings:

alphaE <- 2
alphaCR <- 1

13




Simulate data:

set.seed(10)

df <- data.frame(timel = rexp(n, rate = alphaE), time2 = rexp(n, rate = alphaCR), group
= "1", event = 1)

df$time <- pmin(df$timel,df$time2)

df$event <- (df$time2<df$timel)+1

Cumulative incidence (via risk regression):

e.CSC <- CSC(Hist(time, event) ~ 1, data = df)
vec.times <- unique(round(exp(seq(log(min(df$time)),log(max(df$time)),length.out = 12))
»2))

e.CSCpred <- predict(e.CSC, newdata = data.frame(X = 1), time = vec.times , cause = 1)

Expected vs. calculated:

cbind(time = vec.times,
CSC = e.CSCpred$absRisk[1,],
manual = alphaE/(alphaE+alphaCR)*(1-exp(-(alphaE+alphaCR)*(vec.times)))

)

time CSC manual
[1,] 0.00 0.0000 0.00000000
[2,] 0.01 0.0186 0.01970298
[3,] 0.02 0.0377 0.03882364
[4,] 0.05 0.0924 0.09286135
[5,] 0.14 0.2248 0.22863545
[6,] 0.42 0.4690 0.47756398
[7,] 1.24 0.6534 0.65051069
[8,]1 3.70 0.6703 0.66665659

Could also be obtained treating the outcome as binary:

mean ((df$time<=1) * (df$event==1))

[1] 0.6375
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